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ulfdme @ (Workshop Haid)

foteaer weait oot faaaur
R [P S L 9 _ RN . Earlier L
* | EXAM DATE |- SHIFT | = - QUESTION - 'OPTION-A- | ~OPTION-B | OPTION-C- | oPTION.D - | Peclered | Final Correct
ANop e i S BRI IR R RS Correct Option
' o Option :
1| 29-01-2024 | 10:00AM [T 3T ST T PIATRT ST Toeser ot WSy e aT 27 TG HiGea™T | BRETS et 3. gFrer . wprmofy D CANCELLED
Checked and found franslation is correct.
if all the vowels of the word "ENTRANCE' are changed to the letter
immediately succeeding them in the english alphabet series and all
the consonants are changed to the letter immediately preceding
2 | 2901.2024 | 10:00AM them in the english alphabet series, then how many letters of the Cne Two Three None- D CANCELLED
' new word are similar to the letters of the old word? W =) Gl CIER ]
I 955 'ENTRANCE' & BT ¥a=1 &1 3T auiHTaT e 3 95 g
UEel aTer 31aR ¥ aae e ey sik wuft siet @t ol qufser smer S
gFey e URet Aot e ¥ geer T oy, Oy 7Y erss H fha areR A
TS, o STERT B FHIT B2
. . . . . - All of the
3 | 29-01-2024 | 10:00AM |Which metal can be displaced by copper from its salt solution? Iron Zinc Aluminium i D CANCELLED
options
The largest cone is formed at the base of a cube of side measuring 7
4 26-01-2024 | 10:00AM . . 20:21 2221 21:22 42 1 D CANCELLED
cm. Find the ratio of volume of cone 1o cube.
5 | 29-01-2024 | 3:00PM |feiT gafore- <t St wfaar et IR A CANCELLED
6 | 29-01-2024 | 3:00PM I 4785 ++% +6 =963, then find the value of 'x’. 26 41 63 71 A CANCELLED




o |EXAMDATE| SWFT | QUESTION -~ " | OPTION-A"| OPTION-B | OPTION-C | OPTION-p | Declared |Final Correct
Stady the fellowing table aod answer the given question
below.
‘The lollowing Lable shows the gain i weight by 23 children tn g year.
7| 29-01-2024 | 3:00PM 5 1.9 2.1 2.58 3.2 C CANCELLED
2% A -
= :
What is the mean value of grin in weight?
Which of .the following non-metais is a good conductor of electricity? Graphite Hydrogeﬁ Mica Plastic
8 | 29-01-2024 | 3.00PM . A ANCEL|
ST 5 BT ST, EfT & G Bt 67 kil EEE] 3ITH kllisea CANCELLED
o P YR g9 § IR R are H WE faRm R o iR a1 | anmet faae e | anet et ger | anE freer g )
9 | 30-01-2024 | 10:00AM K R o= = = HEGR T8, B CANCELLED
FATERT? 79T 8 T 2 T E?
if the position of the first and last letters of each word in the series
below are interchanged and arranged in dictionary order then, which
word comes last?  BUD, EGO, VOW, DIM, AWE VOW DIM AWE EGO
10| 30-01-2024 | 10:00AM |a1fE =i < 1S siaeTT TR 9162 B UgeT 37 SifteT arerl & e VOW DIM AWE GO A CANCELLED
IR ¥ FEe T WU SR ereamie @ B N sua ey i Wy, v e
[T 97ez 3  arer 87




ul¥f9me- % (Workshop Hand)

ub¥afefe frapeu ard) uesii oot fageur
5 | EXAMDATE | SHIFT | | QUESTION - 'OPTION-A | OPTION-B' | OPTION-C | opTioN-p | Declared |Final Correct
Noj. SR R PR C - Correct | Option
: _ . i o ' Option
1| 29-01-2024 1 10:00AM |Find the ODD one out from the given options. @ @ @ @ A 'A‘i\cl:)\l-lljD'
2 | 29-01-2024 | 10:00AM |3V T T 3R TN Ry 10 arery F  ave @ v @ RwIg fop e &y FEEENE SR | A C
e Ky =
7= srgede ot age g g e oy SR Rt & g ) wehfie wgsr
TR W ST 2, B 1 S Tl BT B HE aRr iR TR o st shtee- e
TR 8 T 31 SIer-Frdvar So it 5 @t ae &1 7 9ad 99e arare d
a1feh B & 3R =1 SR BN T T Y e B b 3% v @ e e o e . . FREAR | o s
3 | 20-01-2024 | 10:00AM |3R Gk @ SHY e 61 o e arpva ot a7 $a1° Serl Y 9ue sieT ¥ e G;‘;ﬁmﬁ ﬁgjor Sitge fafs @ mﬁ#% A D
&t ST fORIT? S S Wall ST 31T ST U ) ST T o I TeR Sitee o avrere Rl ! EIEGIR
T BT 1 G o7 e 21 STTeres Fig-afta or ey arer 97 ¥, S e
T YT TR TEToTe el o B oW g o eler s e ) e,
RIS 7 SHte-rafe @ aee &7
et arfeee o Ugov 37 TT Wy & IR freed! § I gew S Swerar e arer
TS T e il IR < o It Bl o ot o ek aiftres 1 aw arr e @
o0 &Y IS Tyt 8% Ueb 1T % Tl 81 IS eeNhieE ST Wa kol & i oy
ST TAER o1 3R Poet TR Bl € T BT SR N O soft Rigia B
SR TR T 3¢ TR ) WY G Sre-BTeAT, ST o, Hegwy S 7 T
Temem aef afesm e & are i) eigeT vt @1 e <aT 3iR e @ 5 g e
T SRR B AT Hioe o TE 81 Suae B ot Bt S SarT o See € i SN .
o | 29.01.202¢ | 3:00PM T e eI 7 Sge BN ST A8 ST et 2R ¥ b B ety F e ey ;z% HS 37 ot A #ﬁwaﬁ et o g
ot T [, S e et Sy, g e e e, g e o w7 O | e o T e ¢ A
Tt 5 wfr T a1 Jefes SR ST e T R 8 W i ae Bt ofy ey @

&I AR &, T T8 e IRy o S8 Sl farwy o ol forem e smy sl Rrem wwr
T TS 3O BTG H B TR 34 e € et & R - ot oot
wfcitse seve 5 T8 e, smare & 8 vde A & v R e o e avE ey
B arfer el 81 78 951 55 ffe Seoe Bl 21 ae o o Tl el el @ srene waar
T H & T ferelt 81 St o At st e aefée o fore o e ohfor s
FSTHTH PR ol Tat BRI T & ] 771 B2

Page 1




' LEXAM DATE
NG| -

: SH'IH:' e Fae

QUESTION = .

 OPTION-A

. OPTION-C -

 opmonp.

| Declared

" | Option

 Earlier

- Correct -

Final Correct
Option

29-01-2024

3:00PM

G el TgIENT &1 o ad wfeca st qRem fem?

1949

i 4 S g
R

1968

1925

30-01-2024

10:00AM

Freaferiee sfml o sem & BT B =

BOTH
‘A’ AND 'C'

30-01-2024

10:00AM

Find the ODD one out from the given options.

BOTH
IAI AND !Cl

30-01-2024

10:00AM

Which number will best complete the relationship given below? 6:42:7:7

63

70

56

88

BOTH
‘B' AND 'C'
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